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Instructions / સૂચના
Candidate must ensure compliance to the instructions mentioned below, else objections 
shall not be considered: - 
(1) All the suggestion should be submitted in prescribed format of suggestion sheet Physically. 
(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet) 

published on the website. 
(3) All suggestions are to be submitted with reference to the Master Question Paper with 

provisional answer key (Master Question Paper), published herewith on the website. 
Objections should be sent referring to the Question, Question No. & options of the Master 
Question Paper.  

(4) Suggestions regarding question nos. and options other than provisional answer key (Master 
Question Paper) shall not be considered. 

(5) Objections and answers suggested by the candidate should be in compliance with the 
responses given by him in his answer sheet. Objections shall not be considered, in case, if 
responses given in the answer sheet /response sheet and submitted suggestions are differed. 

(6) Objection for each question shall be made on separate sheet. Objection for more than one 
question in single sheet shall not be considered & treated as cancelled. 

ઉમેદવાર ેનીચેની સૂચનાઓનંુ પાલન કરવાની તકેદારી રાખવી, અլયથા વાંધા-સૂચન અંગ ેકરલે રજૂઆતો իયાને
લેવાશે નહી ં
(1) ઉમેદવાર ેવાધંા-સચૂનો િનયત કરવામા ંઆવેલ વાંધા-સૂચન પԋકથી રજૂ કરવાના રહેશે. 
(2) ઉમેદવાર ેԐՇԐમાણે વાધંા-સચૂનો રજૂ કરવા વેબસાઈટ પર Ԑિસիધ થયેલ િનયત વાંધા-સૂચન પԋકના નમૂનાનો જ

ઉપયોગ કરવો.
(3) ઉમેદવાર ેપોતાન ેપરીԟામા ંમળેલ ԐՇપુિչતકામા ંછપાયેલ ԐՇԃમાંક મુજબ વાંધા-સૂચનો રજૂ ન કરતા તમામ વાંધા-

સૂચનો વેબસાઈટ પર Ԑિસիધ થયેલ Ԑોિવઝનલ આլસર કી (માչટર ԐՇપԋ)ના ԐՇ ԃમાંક મુજબ અન ેતે સંદભӪમાં
રજૂ કરવા. 

(4) માչટર ԐՇપԋ મા ંિનિદӪ Ջ ԐՇ અને િવકճપ િસવાયના વાંધા-સચૂન իયાન ેલેવામાં આવશ ેનહી.ં 
(5) ઉમેદવાર ેજ ેԐՇના િવકճપ પર વાંધો રજૂ કરલે છે અન ેિવકճપ ԁપ ેજ ેજવાબ સચૂવેલ છે એ જવાબ ઉમેદવાર ેપોતાની

ઉԱરવહીમા ંઆપેલ હોવો જોઈએ. ઉમેદવાર ેસચૂવેલ જવાબ અને ઉԱરવહીનો જવાબ િભՂ હશ ેતો ઉમેદવાર ેરજૂ
કરલે વાંધા-સચૂન իયાનમા ંલેવાશ ેનહી.ં 

(6) એક ԐՇ માટે એક જ વાંધા-સૂચન પԋક વાપરવું. એક જ વાંધા-સૂચન પԋકમા ંએકથી વધાર ેԐՇોની રજૂઆત કરલે
હશે તો ત ેઅંગેના વાધંા-સચૂનો իયાન ેલેવાશ ેનહી.ં 
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001. rn{k÷ÞLke rþðkr÷f Ãkðoík nkh{k¤k{kt Lke[uLkk Ãkife þwt ykðu÷wt Au ?

(A) hkLke¾uík (B) LkkÚkw ÷k

(C) ËnuhkËqLk (D) çkËheLkkÚk

002. Lke[uLkk rðÄkLkku{ktÚke fÞwt rðÄkLk / fÞkt rðÄkLkku Mkk[wt / Mkk[kt Au ?

(1) ÷ku¾tz yLku íkktçkw ykøLkuÞ ¾zfku{ktÚke {¤u Au.

(2) fku÷Mkku yLku ¾rLks íku÷ YÃkktíkrhík ¾zfku{ktÚke {¤u Au.

(3) ykhMkÃknký yLku nehk «Míkh ¾zfku{ktÚke {¤u Au.

(A) 1 yLku 3 (B) {kºk 1

(C) 2 yLku 3 (D) 1, 2 yLku 3

003. îeÃkfÕÃkeÞ LkËeyku{kt MkkiÚke {kuxe LkËe fE Au ?

(A) økkuËkðhe (B) Lk{oËk

(C) f]»ýk (D) fkðuhe

004. 2011 Lke ðMíke økýíkhe yLkwMkkh økwshkík{kt þnuhkuLke MktÏÞk fux÷e ÚkE Au ?
(A) 242 (B) 305
(C) 318 (D) 348

005. ¼khíkLke ð»ko 2011 Lke ðMíke økýíkhe yLkwMkkh økwshkík hkßÞLkku ðMíkeLke MktÏÞkLke árüyu fux÷k{ku ¢{ Au ?

(A) 9{ku (B) 10{ku

(C) 12{ku (D) 14{ku

006. ¼khíkLkk fux÷k hkßÞku [eLkLke MkhnË MkkÚku òuzkÞu÷k Au ?

(A) ºký (B) [kh

(C) Ãkkt[ (D) çku

007. Lke[uLkk rðfÕÃk Ãkife fÞku rðfÕÃk ¾kuxku Au ?

 çktÄ  LkËe

(1) Ãkku[{Ãkkz - økkuËkðhe

(2) ©e þi÷{ - f]»ýk

(3) rLkBçkku çkksøkku - r[Lkkçk

(4) rxnhe - ¼køkehÚke
(A) 1 (B) 2
(C) 3 (D) 4

008. Lke[uLkk ðkõÞku [fkMkku :

(1) fkuhkuLkuþLk Ãkw÷ íkeMíkk LkËe Ãkh ykðu÷ Au.

(2) rMkøLku[h Ãkw÷ Þ{wLkk LkËe Ãkh ykðu÷ Au.

(A) çktLku rðÄkLkku Mkk[kt Au. (B) çktLku rðÄkLkku ¾kuxkt Au.

(C) rðÄkLk (1) Mkk[wt yLku (2) ¾kuxwt Au. (D) rðÄkLk (1) ¾kuxwt yLku (2) Mkk[wt Au.

009. fqtr[fk÷ ÄkuÄ Lke[uLkk Ãkife fÞk hkßÞ{kt Au ?

(A) økkuðk (B) fýkoxf

(C) fuhk÷k (D) ykurhMMkk
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010. rn{k÷Þ fux÷e Mk{ktíkh Ãkðoík©uýeykuÚke çkLÞku Au ?

(A) [kh (B) çku

(C) ºký (D) Ãkkt[

011. ÷ûkîeÃk Mk{qnLkk 36 îeÃk Ãkife fux÷k îeÃk Ãkh {kLkððMíke òuðk {¤u Au ?
(A) 15 (B) 16
(C) 21 (D) 10

012. ykÃkýk Ëuþ{kt Úkíkk fw÷ ðhMkkËLkk .......... ¼køk Ërûký-Ãkrù{ {kuMk{e ÃkðLkkuLke Éíkw Ëhr{ÞkLk «kÃík ÚkkÞ Au ?
(A) 2/5 (B) 1/2
(C) 3/4 (D) 3/5

013. rðï ðkhMkkLkk MÚk¤ku{kt Lke[uLkk Ãkife fkuLkku Mk{kðuþ ÚkÞu÷ Au ?

(A) ykøkúkLkku rfÕ÷ku (B) AºkÃkrík rþðkS x{eoLkMkT

(C) fkuýkfo MkqÞo {trËh (D) WÃkhLkk ºkýuÞLkku

014. Mk{k[kh Ãkºk ‘y{]ík çkkÍkh Ãkrºkfk’ Lkk MktMÚkkÃkf Lke[uLkk Ãkife fkuý níkwt ?

(A) çktrf{[Lÿ [uxSo (B) Eïh[Lÿ rðãkMkkøkh

(C) {kuíke÷k÷ ½ku»k (D) {kþo{uLk

015. ÷kuÚk÷ MÚk¤Lkk Wí¾LkLkfíkko Ãkwhkík¥ðrðË Lke[uLkk Ãkife fkuý níkk ?

(A) ðe. fu. ÚkkÃkh (B) yuMk. yu{. ík÷ðkh

(C) çke. çke. ÷k÷ (D) h¾k÷ËkMk çkuLkSo

016. Lkkufhuf hk»xÙeÞ WãkLk fÞk hkßÞ{kt ykðu÷ Au ?

(A) yYýk[÷ «Ëuþ (B) r{Íkuh{

(C) {u½k÷Þ (D) ykMkk{

017. LkkiMkuLkk Mktøkúnk÷Þ (Mðýo ßÞkurík Mktøkúnk÷Þ) Lke[uLkk Ãkife fÞk MÚk¤u ykðu÷ Au ?

(A) økkuðk (B) {wtçkE

(C) rðsÞðkzk (D) rðþk¾kÃkèLk{T

018. rð¢{þe÷k rðïrðãk÷ÞLke MÚkkÃkLkk Lke[uLkk Ãkife fkuýu fhe níke ?

(A) Ä{oÃkk÷ (B) ËuðÃkk÷

(C) økkuÃkk÷Ãkk÷ (D) WÃkh Ãkife yufÃký Lknª

019. ¼khíkeÞ MktrðÄkLk îkhk Lke[u Ëþkoðu÷ ¼k»kkyku Ãkife fE ¼k»kk {kLÞíkk «kÃík ¼k»kk íkhefu økýu÷ LkÚke ?

(A) ®MkÄe (B) fkUfýe

(C) {irÚk÷e (D) ytøkúuS

020. Lke[u Ëþkoðu÷ hkßÞku Ãkife fÞk hkßÞ{kt siLkkuLke ðMíke MkkiÚke ðÄw Au ?

(A) økwshkík (B) {nkhk»xÙ

(C) hksMÚkkLk (D) rçknkh

021. Lke[uLkk Ãkife fÞk {w½÷ çkkËþknLkk Ëhçkkh{kt WMíkkË {tMkqh yLku yçkw÷ nMkLk r[ºkfkh níkk ?

(A) nw{kÞw (B) yfçkh

(C) þknsnkt (D) snktøkeh
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022. «íkeûkk fkMke Lke[uLkk Ãkife fÞk Lk]íÞLkk f÷kfkh Au ?

(A) ¼hík Lkkxâ{T (B) fq[eÃkwze

(C) fÚkf (D) {rýÃkwhe

023. f÷{fkhe r[ºkf÷kLkku WËT¼ð Lke[uLkk Ãkife õÞkt ÚkÞku níkku ?

(A) hksMÚkkLk (B) {æÞ«Ëuþ

(C) yktÄú«Ëuþ (D) rçknkh

024. [kuÚke çkkiæÄ Mk¼kLkwt ykÞkusLk Lke[uLkk Ãkife fÞk MÚk¤u ÚkÞwt níkwt ?

(A) Ãkkx÷eÃkwºk (B) ðiþk÷e

(C) MkkhLkkÚk (D) fwtz÷ðLk (fk~{eh)

025. {wnB{Ë ½kuheyu fÞk ÞwæÄ{kt fýkusLkk þkMkf sÞ[tËLku ÃkhkSík fheLku íkuLku {khe Lkk¾u÷ níkk ?

(A) íkhkELkLkwt Ãknu÷wt ÞwæÄ (B) íkhkELkLkwt çkeswt ÞwæÄ

(C) [tËkðhLkwt ÞwæÄ (D) WÃkh Ãkife yufÃký Lknª

026. ¼khík{kt «Úk{ r«Lxªøk «uMkLke E.Mk. 1556 {kt fÞk MÚk¤u þYykík fhðk{kt ykðe níke ?

(A) fku[eLk (B) økkuðk

(C) {wtçkE (D) f÷f¥kk

027. fÞk yUø÷ku-{iMkqh ÞwæÄ{kt xeÃkw Mkw÷íkkLkLkwt {]íÞw ÚkÞwt níkwt ?

(A) «Úk{ (B) çkeò

(C) ºkeò (D) [kuÚkk

028. ¼khíkeÞ hk»xÙeÞ fkUøkúuMkLkk «Úk{ ytøkúus yæÞûk fkuý níkk ?

(A) ßÞkuso Þq÷u (George Yule) (B) rðr÷Þ{ ðuzhðLko

(C) yÕ£uz ðuçk (D) nuLkhe fkuxLk

029. yr¾÷ ¼khíkeÞ {wÂM÷{ ÷eøkLke MÚkkÃkLkkLke ½ku»kýk fÞk MÚk¤u ÞkuòÞu÷ çkuXf{kt fhðk{kt ykðe níke ?

(A) rþ{÷k (B) Zkfk

(C) y{]íkMkh (D) ÷knkuh

030. Lke[uLkk Ãkife þkLke MkwÄkhýk {kxu E.Mk. 1902 {kt £uMkh fr{þLkLke h[Lkk ÚkÞu÷ níke ?

(A) fhðuhkLkk {k¤¾k{kt VuhVkh (B) rþûký

(C) Ãkkur÷Mk (D) fLÞkyku {kxuLkk ÷øLkLke ô{h{kt VuhVkh {kxu

031. ÷e fr{þLkLke ¼÷k{ý fkuLku MktçktrÄík níke ?

(A) s{eLkLke MkwÄkhýk (B) «ktíkkuLku ðÄw Mk¥kkyku ykÃkðe

(C) rðÄðk rððkn Ãkh «ríkçktÄ {qfðku (D) ÷kuf Mkuðk ykÞkuøkLke MÚkkÃkLkk fhðk

032. økðLko{uLx ykuV EÂLzÞk yuõx, 1919 yu .......... íkhefu Ãký yku¤¾kÞ Au.

(A) hkì÷ux yuõx (B) {kuLxuøÞw-[uBMkVzo MkwÄkhkyku

(C) {ku÷uo-r{Lxku MkwÄkhk (D) WÃkh Ãkife yufÃký Lknª

033. fÞk yuõxÚke Mkki«Úk{ ð¾ík rîøk]nku yLku Ëuþ{kt MkeÄe [qtxýeLke òuøkðkE fhðk{kt ykðe níke ?

(A) økðLko{uLx ykuV EÂLzÞk yuõx, 1919 (B) økðLko{uLx ykuV EÂLzÞk yuõx, 1912

(C) økðLko{uLx ykuV EÂLzÞk yuõx, 1915 (D) økðLko{uLx ykuV EÂLzÞk yuõx, 1858
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034. ¼khík Mkhfkh yrÄrLkÞ{, 1935 ytíkøkoík 1937 {kt ÚkÞu÷ «ktríkÞ [qtxýe{kt Lke[uLkk Ãkife þk{kt fkUøkúuMkLku çknw{íke {¤u÷
níke ?

(A) ÞwLkkExuz «kuðeLMkeÍ (Þw.Ãke.) (B) rçknkh

(C) {ÿkMk (D) WÃkhLkk ºkýuÞ

035. y{ËkðkË r{÷ {sËqh nzíkk÷{kt økktÄeSLkk yLkþLk çkkË r{÷ {kr÷fkuyu fux÷k xfk çkkuLkMk ykÃkðkLkku Mðefkh fhu÷
níkku ?
(A) 25 (B) 35
(C) 30 (D) 20

036. E.Mk. 1871 {kt ¼khík{kt «Úk{ ðMíke økýíkhe fhðk{kt ykðu÷, íku Mk{Þu ¼khík{kt ðkEMkhkuÞ íkhefu fkuý níkwt ?

(A) ÷kuzo {uÞku (B) ÷kuzo yuÂÕøkLk

(C) Mkh òuLk ÷kuhuLMk (D) ÷kuzo LkkÚkoçkúwf

037. Lke[uLkk rðÄkLkku rð[khýk{kt ÷ku :

(1) Lkerík ykÞkuøk{kt WÃk-«{w¾Lke rLkÞwõíke hk»xÙÃkrík fhu Au.

(2) Lkerík ykÞkuøkLke ¼tzku¤ Vk¤ðýe{kt fkuE ¼qr{fk nkuíke LkÚke.

(3) Lkerík ykÞkuøk{kt nkuÆkLke Yyu ðÄw{kt ðÄw furLÿÞ {tºkeyku{ktÚke Ãkkt[ MkÇÞku nkuÞ Au.

WÃkhLkk rðÄkLkku Ãkife fÞwt rðÄkLk / fÞkt rðÄkLkku Mkk[wt / Mkk[kt Au ?

(A) 1 yLku 3 (B) {kºk 2

(C) 1 yLku 2 (D) 2 yLku 3

038. Lkerík ykÞkuøk îkhk fÞk ð»ko{kt rðãkÚkeo MkknMk ÞkusLkk (The Student Enterpreneurship Program) Lke þYykík
fhðk{kt ykðe níke ?
(A) 2018 (B) 2017
(C) 2016 (D) 2019

039. furLÿÞ yktfzk f[uhe îkhk fÞk ð»ko{kt ÃkkÞkLkwt ð»ko 2004-05 Lku çkË÷u 2011-12 íkÚkk hk»xÙeÞ ykðf økýíkheLke ÃkæÄrík{kt
VuhVkh fhðk{kt ykðu÷ níkku ?
(A) 2016 (B) 2017
(C) 2015 (D) 2018

040. Lke[uLkk ðkõÞku [fkMkku :

(1) zuhe zuð÷Ãk{uLx «kuøkúk{Lke þYykík Aêe Ãkt[ð»keoÞ ÞkusLkk ËhBÞkLk ÚkE níke.

(2) sðknh hkusøkkh ÞkusLkkLke þYykík Mkkík{e Ãkt[ð»keoÞ ÞkusLkk ËhBÞkLk ÚkE níke.

(A) çktLku rðÄkLkku Mkk[kt Au. (B) çktLku rðÄkLkku ¾kuxkt Au.

(C) rðÄkLk (1) ¾kuxwt yLku (2) Mkk[wt Au. (D) rðÄkLk (1) Mkk[wt yLku (2) ¾kuxwt Au.

041. hkßÞkuLke Ãkt[ð»keoÞ ÞkusLkkLku ykÄkh ykÃkðk {kxu furLÿÞ MknkÞ ykÃkðk {kxuLke økýíkheLke økkzøke÷ VkuBÞwo÷k fE
Ãkt[ð»keoÞ ÞkusLkkÚke yÃkLkkðu÷ yLku íku ð¾íkkuð¾ík MkwÄkhðk{kt ykðu÷ Au ?

(A) Ãkkt[{e (B) Aêe

(C) ºkeS (D) [kuÚke

042. ¼khíkLke fE Ãkt[ð»keoÞ ÞkusLkk{kt 7 ÔÞkÃkf ûkuºkku{kt 25 rLkheûkýfkhf ÷ûÞktf rLkÄkoheík fhðk{kt ykðu÷ níkk ?

(A) ykX{e (B) ËMk{e

(C) çkkh{e (D) Lkð{e
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043. hk»xÙeÞ fûkkLke - ‘EÂLzÞLk EÂLMxxâwx ykuV ¢kuÃk «kuMkuMkªøk xufLkku÷kuS’ fÞk MÚk¤u ykðu÷e Au ?

(A) {wtçkE (B) Úkktòðwh

(C) nuÿkçkkË (D) LÞq rËÕne

044. çkuLfªøk ÔÞðnkh{kt MSF ÞkusLkk y{÷e Au, su{kt M yux÷u ....

(A) Marginal (B) Monetary
(C) Market (D) Money

045. Lke[uLkk ðkõÞku [fkMkku :

(1) ftÃkLke îkhk f{o[kheykuLku rðLkk{qÕÞu ykÃkðk{kt ykðíkk þìhLku ‘Sweat Share’ fnuðk{kt ykðu Au.

(2) ftÃkLkeLke yrÄf]ík {qzeLkku ¼køk fu su hf{ ftÃkLkeLku þìh nkuÕzh îkhk [qfððk{kt ykðe nkuÞ íkuLku ‘Authorised
Capital’ fnuðk{kt ykðu Au.

(A) rðÄkLk (1) ¾kuxwt yLku (2) Mkk[wt Au. (B) çktLku rðÄkLkku ¾kuxkt Au.

(C) çktLku rðÄkLkku Mkk[kt Au. (D) rðÄkLk (1) Mkk[wt yLku (2) ¾kuxwt Au.

046. Ä {eLke{{ ykuÕxhLkux xuûk (MAT) Mkki«Úk{ ð¾ík fÞk ð»koÚke þY fhðk{kt ykðu÷ níkku ?

(A) 1995-96 (B) 1997-98
(C) 1998-99 (D) 2000-01

047. yx÷ ELõÞwçkuþLk MkuLxh Lkerík ykÞkuøk îkhk fÞk ð»ko{kt þY fhðk{kt ykðu÷ Au yLku ÃkMktË ÚkÞu÷k MxkxoyÃkLku Ãkkt[
ð»koLkk Mk{Þøkk¤k{kt ðÄw{kt ðÄw fux÷e hf{Lke økúkLx Vk¤ðe þfkÞ Au ?

(A) 2015, ËMk fhkuz YrÃkÞkLke (B) 2014, Ãkkt[ fhkuz YrÃkÞkLke

(C) 2016, ËMk fhkuz YrÃkÞkLke (D) 2017, ËMk fhkuz YrÃkÞkLke

048. «ÄkLk{tºke {wÿk ÞkusLkk nuX¤ {kE¢ku yuLxh«kEÍLku YrÃkÞk ËMk ÷k¾ MkwÄeLke ÷kuLk {¤ðkÃkkºk ÚkkÞ Au, íku{kt “íkYý”
ÞkusLkk ytíkøkoík fux÷e ÷kuLk {¤ðkÃkkºk ÚkkÞ Au ?

(A) YrÃkÞk 50,000 MkwÄeLke (B) YrÃkÞk 50,000 Úke 3,00,000 MkwÄeLke

(C) YrÃkÞk 50,000 Úke 5,00,000 MkwÄeLke (D) YrÃkÞk 5,00,000 Úke 10,00,000 MkwÄeLke

049. MktMkË îkhk ¼khíkLkk MktrðÄkLk{kt yk{w¾{kt MkwÄkhku fÞk yLkwåAuËLke òuøkðkE ytíkøkoík ÚkE þfu Au ?

(A) 356 (B) 368
(C) 352 (D) 358

050. ¼khíkLkk MktrðÄkLkLkk yLkwåAuË 360 Lke òuøkðkELkku y{÷ yíÞkhMkwÄe fux÷e ð¾ík ÚkÞku Au ?

(A) yuf (B) çku

(C) ºký (D) õÞkhuÞ ÚkÞku LkÚke

051. ðLÞ ÃkþwÃkûkeyku Mkrník fwËhíke ÃkÞkoðhýLkwt síkLk fhðkLke ¼khíkLkk MktrðÄkLk{kt òuøkðkE Au :

(A) hkßÞLkeríkLkk {køkoËþof rMkæÄktíkku{kt (B) {q¤¼qík Vhòu{kt

(C) WÃkh (A) íkÚkk (B) çktLku{kt (D) ykðe fkuE òuøkðkE LkÚke

052. hk»xÙÃkrík îkhk ¼khíkLkk MktrðÄkLk{kt rLkÞík fhkÞu÷ fkÞoðkne yLkwMkheLku Wå[ík{ LÞkÞk÷ÞLkk LÞkÞkÄeþLku Lke[uLkk fÞk
fkhýMkh nkuÆk ÃkhÚke Ëqh fhe þfkÞ Au ?

(A) økuhðíkoýqf (B) yÃkkºkíkk

(C) LkkËkhe (D) WÃkh (A) yÚkðk (B)
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053. ¼khíkLkk MktrðÄkLkLke òuøkðkE nuX¤ Ãkt[kÞíkkuLku fh Lkk¾ðkLke Mk¥kk yLku Vtz çkkçkíku fkuý òuøkðkE fhe þfþu ?

(A) {wÏÞ{tºke (B) hkßÞ rðÄkLk{tz¤

(C) Ãkt[kÞíkLkku fkhkuçkkh Mkt¼k¤íkk {tºke (D) hkßÞÃkk÷

054. ÷kufkÞwõík ykÞkuøkLku {¤u÷e fkuE VrhÞkË yÚkðk çkkçkík Ãkh ÷kufkÞwõík ykÞkuøkLke çkU[ îkhk s íkÃkkMk yÚkðk yLkðu»ký
fhe þfkþu. ÷kufkÞwõík ykÞkuøk, ykuAk{kt ykuAk .......... MkÇÞkuLke çkU[{kt fk{økehe fhþu.

(A) çku (B) ºký

(C) [kh (D) Ãkkt[

055. ÷kuf Mkuðk ykÞkuøkLkk MktçktÄ{kt Lke[uLkk rðÄkLkku rð[khýk{kt ÷ku :

(1) çku fu ðÄw hkßÞkuLkk sqÚk {kxu yuf ÷kuf Mkuðk ykÞkuøk hk¾e þfkþu.

(2) fkuE ÷kuf Mkuðk ykÞkuøkLkk MkÇÞ íkhefu nkuÆku Ähkðíke ÔÞÂõík ÃkkuíkkLkk nkuÆkLke {wËík Ãkqhe ÚkÞu íku nkuÆk Ãkh VuhrLk{ýqf
{kxu Ãkkºk økýkþu Lknª.

(3) fkuE hkßÞ ÷kuf Mkuðk ykÞkuøkLkk yæÞûk, Mkt½ ÷kuf Mkuðk ykÞkuøkLkk MkÇÞ íkhefu Lke{kðkÃkkºk økýkþu.

(A) 1 yLku 2 (B) 1 yLku 3

(C) 2 yLku 3 (D) 1, 2 yLku 3

056. hkßÞ {krníke Ãkt[{kt {wÏÞ {krníke fr{þLkh, yLku .......... ðÄw Lkrn íkux÷k, hkßÞ {krníke fr{þLkhku hk¾ðkLke
òuøkðkE Au.

(A) Ãkkt[Úke (B) MkkíkÚke

(C) ËMkÚke (D) A Úke

057. ¼khíkLkk MktrðÄkLk{kt ¼køk-9 {kt Ãkt[kÞíkku ytøkuLke òuøkðkEyku Lke[uLkk Ãkife fÞk hkßÞLku ÷køkw Ãkzíke LkÚke ?

(A) r{Íkuh{ (B) yYýk[÷ «Ëuþ

(C) rºkÃkwhk (D) rMkr¬{

058. yLkwMkqr[ík ykrËòríkykuLkk MkÇÞkuLku Lkkýkt ÄehLkkhkykuLkk ÄehÄkhLkk ÄtÄkLkwt rLkÞ{Lk ¼khíkLkk MktrðÄkLkLke òuøkðkE
nuX¤ fkuý fhe þfu Au ?

(A) hkßÞ rðÄkLk{tz¤ (B) MktMkË

(C) hkßÞÃkk÷ (D) hk»xÙÃkrík

059. ¼khíkLkk MktrðÄkLkLke Lke[uLkk fÞk yLkwåAuËLke òuøkðkE “fkuE ÔÞÂõík”Lku ÷køkw Ãkzu Au ?

(A) yLkwåAuË-15 (B) yLkwåAuË-14

(C) yLkwåAuË-16 (D) yLkwåAuË-19

060. ¼khíkLkk MktrðÄkLkLke òuøkðkE yLkwMkkh hk»xÙÃkrík .......... íkhefu rLk{kðkLku ÷kÞf nkuÞ íkuðe fkuE ÔÞÂõíkLku ¼khíkLkk
yuxLkeo sLkh÷ íkhefu Lke{e þfu Au.

(A) Wå[ LÞkÞk÷ÞLkk {wÏÞ LÞkÞkÄeþ (B) Wå[ LÞkÞk÷ÞLkk LÞkÞkÄeþ

(C) Wå[ík{ LÞkÞk÷ÞLkk {wÏÞ LÞkÞkÄeþ (D) Wå[ík{ LÞkÞk÷ÞLkk LÞkÞkÄeþ

061. 115  115 + 85  85  =  ....?....
(A) 21504 (B) 20450
(C) 19408 (D) 19550

062. 16, 24, 36 yLku 48 Úke ¼køke þfkÞ íkuðe MktÏÞk þkuÄku.
(A) 144 (B) 384
(C) 154 (D) 540
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063. ....?.... 0.025 = 80   «&™kÚkor[Ln{kt fE ®f{ík ykðþu ?

(A) 0.2 (B) 2
(C) 0.02 (D) 0.002

064. 53.312  15.68 + 8.35 =  ....?....
(A) 11.39 (B) 117.5
(C) 11.75 (D) 1.175

065. yuf þk¤k{kt Ëhuf ðøko¾tz{kt 30 rðãkÚkeoyku Au. Lkðk rðãkÚkeoykuLku «ðuþ ykÃkíkk ºký Lkðk ðøko¾tz þY fhðk{kt ykðu÷
Au yLku fw÷ ðøko¾tz 16 ÚkkÞ Au. Ëhuf ðøko¾tz{kt 25 rðãkÚkeoyku Au, íkku Lkðk «ðuþ ykðLkkh rðãkÚkeoykuLke MktÏÞk fux÷e
ÚkkÞ ?
(A) 12 (B) 16
(C) 18 (D) 10

066. yuf øk]Ãk{kt 40 rðãkÚkeoykuLke Mkhuhkþ ô{h 15 ð»koLke Au. íku{kt rþûkfLke ô{h W{uhíkkt Mkhuhkþ{kt yufLkku ðÄkhku ÚkkÞ Au,
íkku rþûkfLke ô{h fux÷k ðhMkLke nþu ?
(A) 54 (B) 51
(C) 56 (D) 52

067. òu YrÃkÞk 4000 yu ½hLkk {qÕÞLkk 2/5 xfk Au, íkku ½hLke ®f{ík (YrÃkÞk{kt) .......... Au.
(A) 12,00,000 (B) 8,60,000
(C) 9,60,000 (D) 10,00,000

068. yuf ðMíkwLke {q¤ ®f{ík yLku ðu[ký ®f{íkLkku økwýku¥kh 3:5 Au. LkVku fux÷k xfk ÚkkÞ ?

(A) 60% (B) 
266 %
3

(C) 62% (D) 
133 %
3

069. ºký MktÏÞkLkku økwýku¥kh 3:4:5 Au yLku íkuLkk ðøkoLkku Mkhðk¤ku 1800 Au. yk MktÏÞkLkku Mkhðk¤ku .......... Au.
(A) 72 (B) 60
(C) 84 (D) 96

070. h{uþ, rËLkuþ yLku hksuþ ¼køkeËkhe{kt yuf ÄtÄku þY fhu Au. h{uþ þYykík{kt fux÷ef hf{ hkufu Au. rËLkuþ A {rnLkk
ÃkAe çku økýe hf{ yLku hksuþ ykX {rnLkk ÃkAe ºký økýe hf{Lkwt hkufký fhu Au. òu ð»koLkku LkVku YrÃkÞk 36,000/- ÚkÞku
nkuÞ íkku hksuþLkk ¼køku fux÷e hf{ ykðu ?
(A) 24,000 (B) 9,000
(C) 12,000 (D) 14,000

071. ‘yu’ yLku ‘çke’ yuf fk{ 24 rËðMk{kt, ‘çke’ yLku ‘Mke’ yk fk{ 30 rËðMk{kt, ‘Mke’ yLku ‘yu’ yk fk{ 40 rËðMk{kt Ãkwhwt
fhu Au. òu ºkýuÞ yufMkkÚku yk fk{ fhu íkku fux÷k rËðMk{kt Ãkwhwt ÚkkÞ ?
(A) 14 (B) 12
(C) 15 (D) 10

072. ©uýe{kt ¾kuxe / yMktøkík MktÏÞk þkuÄku :
5, 15, 30, 135, 405, 1215, 3645
(A) 135 (B) 30
(C) 405 (D) 3645

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



APN - MASTER ] 8 [ Contd.

073. fE hkßÞ Mkhfkhu ÷kufkuLkk sqLkk VkuLk, fBÃÞwxh, hkWxh yLku çkeò Lkfk{k E÷uõxÙkurLkõMk MkkÄLkku (E-f[hku) ¾heËðkLke
ÞkusLkk þY fhu÷ Au ?

(A) {nkhk»xÙ (B) {æÞ«Ëuþ

(C) hksMÚkkLk (D) økkuðk

074. Lke[uLkk ðkõÞku [fkMkku :

(1) ßÞkhu yýwMk{wËkÞ (molecule) E÷uõxÙkuLk {u¤ðu Au, íÞkhu íku «r¢ÞkLku hezõþLk fnuðkÞ Au.

(2) ßÞkhu yýwMk{wËkÞ (molecule) E÷uõxÙkuLk økw{kðu Au, íÞkhu íku «r¢ÞkLku ykuÂõMkzuþLk fnuðkÞ Au.

(A) çktLku rðÄkLkku Mkk[kt Au. (B) çktLku rðÄkLkku ¾kuxkt Au.

(C) rðÄkLk (1) Mkk[wt yLku (2) ¾kuxwt Au. (D) rðÄkLk (1) ¾kuxwt yLku (2) Mkk[wt Au.

075. ¾kã {kA÷eLke Lkðe «òrík{kt ÃktÃkk LkËe{kt {¤u÷ Au. yk LkËe fÞk hkßÞ{kt ykðu÷e Au ?

(A) yktÄú«Ëuþ (B) íkr{÷Lkkzw

(C) fýkoxf (D) fuh÷

076. á~Þ{kLk htøkkuLkk ðýoÃkx{kt (spectrum) fÞk htøkLkwt ykðíkoLk MkkiÚke rLkBLkík{ nkuÞ Au ?

(A) ðkË¤e (blue) (B) òtçk÷e (violet)

(C) ÷k÷ (red) (D) Lkkhtøke (orange)

077. ¼khíkLkwt Ãknu÷wt MkwÃkh fkuBÃÞwxh çkUø÷kuh ¾kíku ykðu÷ hk»xÙeÞ ði{krLkfe «Þkuøkþk¤kyu ð»ko 1986 {kt çkLkkðu÷ níkwt. íkuLkwt
Lkk{ þwt níkwt ?

(A) Ãkh{ - 10000 (B) ^÷ku Mkku÷ðh yu{.fu.3

(C) Ãkh{ Þwðk-II (D) SAGA - 200

078. HI 316 yLku HI 353 yu Lke[u Ãkife fÞk ÃkkfLke Lkðe òíkku Au ?

(A) ½ô (B) çkkshe

(C) fÃkkMk (D) ík÷

079. 1 Mk{wÿe {kE÷ = .......... rf÷ku{exh

(A) 1.852 (B) 1.752

(C) 1.525 (D) 1.562

080. yku{uøkk-3 Vuixe yurMkz þk{ktÚke {¤u Au ?

(A) økksh (B) MkkuÞkçkeLk

(C) ÷e÷k þkf¼kS (D) EMkçkøkw÷

081. rðãwík «ríkhkuÄLkk {kÃk {kxu fÞku yuf{ ðÃkhkÞ Au ?

(A) fw÷Bçk (B) ðkuÕx

(C) yku{ (D) Mke{tMkT

082. økxh ÔÞðMÚkkÃkLk MkwrðÄk{kt ÃkkýeLku stíkw{wõík fhðk {kxu fÞk çku ðkÞwyku ðÃkhkÞ Au ?

(A) LkkExÙkusLk yLku nkEzÙkusLk (B) rnr÷Þ{ yLku ykuÍkuLk

(C) õ÷kurhLk yLku LkkExÙkusLk (D) ykuÍkuLk yLku õ÷kurhLk
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083. Lke[uLkk ðkõÞku [fkMkku :

(1) yuLke{ku{exhÚke ÃkðLkLke økrík {kÃke þfkÞ Au.

(2) ¢uþfkuøkúkVÚke AkuzLke ð]ÂæÄ {kÃke þfkÞ Au.

(A) rðÄkLk (1) Mkk[wt yLku (2) ¾kuxwt Au. (B) rðÄkLk (1) ¾kuxwt yLku (2) Mkk[wt Au.

(C) çktLku rðÄkLkku Mkk[kt Au. (D) çktLku rðÄkLkku ¾kuxkt Au.

084. Úk{o÷ ELMÞw÷uþLkLkku WÃkÞkuøk ÚkkÞ Au :

(A) økh{eLkku «ðkn çktÄ fhu Au. (B) økh{eLkku «ðkn ½xkzu Au.

(C) økh{e þku»ke ÷u Au. (D) økh{eLkku «ðkn W÷xe rËþk{kt ÷E òÞ Au.

085. ¼khíkeÞ ði¿kkrLkf yLku ykiãkurøkf MktþkuÄLk MktMÚkk - furLÿÞ r{furLkf÷ yuÂLsrLkÞhªøk MktMkkuÄLk MktMÚkkyu (CSIR -
CMERI) rðïLkk MkkiÚke {kuxk Mkkih ð]ûkLkku rðfkMk fÞk hkßÞ{kt fÞkuo Au ?

(A) {nkhk»xÙ (B) rËÕne

(C) fýkoxf (D) Ãkrù{ çktøkk¤

086. yurþÞLk Vqxçkku÷ fkuLVuzhuþLk (AFC) 2022 yurþÞLk rð{uLMk fÃkLkwt ykÞkusLk fÞk Ëuþ{kt ÚkLkkh Au ?

(A) yksuoÂLxLkk (B) çkúkrÍ÷

(C) ¼khík (D) WÃkh Ãkife yufÃký Lknª

087. «kuÃkxeo fkzoLkwt ¼kiríkf rðíkhý þYykík{kt fux÷k hkßÞ{kt þY fhðk{kt ykðu÷ Au ?

(A) [kh (B) A

(C) ykX (D) Ãkkt[

088. hkSð økktÄe ¾u÷ híLk yuðkuzo {kxu .......... hík{ðehkuLke yLku yswoLk yuðkuzo {kxu .......... h{íkðehkuLke ð»ko 2020 {kt
ÃkMktËøke fhðk{kt ykðu÷ Au ?
(A) 5, 27 (B) 7, 22
(C) 4, 20 (D) 8, 16

089. Ä fuÃkex÷ VkWLzuþ™ LkuþLk÷ yìðkuzo, 2020 Lkk yìðkuzoÚke fkuLku Lkðksðk{kt ykðu÷ Au ?

(A) øÞkLkuLÿ ®Lkøkkuçkk{T (B) {Lk«eík Mkªøk

(C) zkp. LkrhLËh Äúwð çkkºkk (D) WÃkh Ãkife yufÃký Lknª

090. 2019 Lkk ð»koLkku ¿kkLkÃkeX ÃkwhMfkh fkuLku yuLkkÞík ÚkÞu÷ Au ?

(A) þt¾ ½ku»k (B) yr{íkkð ½ku»k

(C) f]»ýk Mkkuçkíke (D) yrffík{T yåÞwíkLkT LktçkwËhe

091. økwshkík MkkrníÞ yfkË{e îkhk ð»ko 2018 Lkku MkkrníÞ økkihð yìðkuzo fkuLku ykÃkðk{kt ykðu÷ Au ?

(A) {kunB{Ë {ktfz (B) h½wðeh [kiÄhe

(C) f{÷ ðkuhk (D) Q{eo ËuMkkE

092. fÞku ÞwhkurÃkÞLk Ëuþ xÙkrVf ò{ ½xkzðk {kxu ònuh ÃkrhðnLkLku {Vík çkLkkðLkkhku «Úk{ Ëuþ çkLÞku Au ?

(A) LkuÄh÷uLz (B) ÷õÍ{çkøko

(C) ykÞ÷uoLz (D) MðezLk

093. ðÕzo nuÃkeLkuMk ELzuûk, 2020 {kt «Úk{ ¢{ktfu fÞk ËuþLkku Mk{kðuþ ÚkÞu÷ Au ?

(A) MðexÍ÷uoLz (B) zuLk{kfo

(C) VeLk÷uLz (D) ykEMk÷uLz
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094. íkk. 1-4-2020 Lkk hkus çkUfkuLkwt su yufefhý ÚkÞu÷, íku{kt Lke[u ykÃku÷k rðfÕÃkku Ãkife fÞku rðfÕÃk ¾kuxku Au ?

            çkUfLkwt Lkk{     fE çkUf MkkÚku yufefhý ÚkÞwt

(1) ykuheyuLx÷ çkuLf ykuV fku{Mko yuLz ÞwLkkExuz çkuLf ykuV EÂLzÞk - Ãktòçk LkuþLk÷ çkuLf

(2) rMkLzefux çkuLf - fuLkuhk çkuLf

(3) EÂLzÞLk çkuLf - Mxux çkuLf ykuV EÂLzÞk

(4) yktÄú çkuLf yuLz fkuhÃkkuhuþLk çkuLf - ÞwrLkÞLk çkuLf ykuV EÂLzÞk

(A) 3 (B) 4

(C) 2 (D) 1

095. ¼khík{kt Mkki«Úk{ ð¾ík fÞk hkßÞu Ãkkur÷Mk MxuþLkLke {w÷kfkík ÷eÄk rMkðkÞ yuV.ykE.ykh. LkkUÄkððk {kxu
“yuV.ykE.ykh. ykÃkfu îkh ÞkusLkk” þY fhe Au.

(A) W¥kh«Ëuþ (B) {æÞ«Ëuþ

(C) hksMÚkkLk (D) A¥keMkøkZ

096. VkuçMko, 2020 Lke rðïLkk MkkiÚke ðÄw ðuíkLk {u¤ðíkk h{íkðehkuLke ÞkËe{kt Lke[uLkk Ãkife fÞk ¼khíkeÞ r¢fuxhLkku Mk{kðuþ
ÚkÞu÷ Au ?

(A) hkurník þ{ko (B) sMk«eík çkw{hkn

(C) rþ¾h ÄðLk (D) rðhkx fkun÷e

097. 65{k rVÕ{ Vuh yìðkuzoMkT, 2020 {kt “÷kEVxkE{ yu[eð{uLx yìðkuzo” fkuLku {¤u÷ Au ?

(A) h{uþ rMkÃÃke (B) þknY¾¾kLk

(C) {kiMk{e [uxSo (D) íkLkwò

098. ¼khík MkhfkhLkk ð»ko 2020-21 Lkk çksux MktçktÄ{kt Lke[uLkk rðÄkLkku rð[khýk{kt ÷ku :

(1) ¼khík Lkux fkÞo¢{ {kxu YrÃkÞk 6000/- fhkuzLkku «Míkkð

(2) Íkh¾tzLkk hkt[e{kt yuf sLkòíkeÞ Mktøkúnk÷ÞLke MÚkkÃkLkk fhðk{kt ykðþu.

(3) 550 hu÷ðu MxuþLkku Ãkh ðkE-VkELke MkwrðÄk

(4) hk»xÙeÞ ¼híke yusLMkeLke MÚkkÃkLkkLkku «Míkkð

WÃkhLkk rðÄkLkku Ãkife fÞwt rðÄkLk / fÞkt rðÄkLkku Mkk[wt / Mkk[kt Au íkuLkku ÞkuøÞ rðfÕÃk ÃkMktË fhku.

(A) 1 yLku 2 (B) 1, 2 yLku 4

(C) 1, 3 yLku 4 (D) 1, 2, 3 yLku 4

099. çkeÍLkuMk rhVku{o yuõþLk Ã÷kLk, 2019 {kt «Úk{ ¢{ktfu fÞwt hkßÞ ykðu÷ Au ?

(A) W¥kh«Ëuþ (B) íku÷tøkkýk

(C) yktÄú«Ëuþ (D) Íkh¾tz

100. hk»xÙeÞ xÃkk÷ MkÃíkkn, 2020 Lke Wsðýe õÞkhu fhðk{kt ykðu÷ ?

(A) íkk. 1-10-2020 Úke 6-10-2020 (B) íkk. 9-10-2020 Úke 15-10-2020

(C) íkk. 19-10-2020 Úke 24-10-2020 (D) íkk. 26-10-2020 Úke 31-10-2020
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101. According to Section 60 of the Companies Act where any notice, advertisement or any other
official publication etc. of a company contains a statement of amount of authorized capital of
the company, such notice, advertisement or any other official publication etc of a company shall
also contain a statement of the amount of
(A) Subscribed Capital (B) Paid up Capital
(C) Both (A) and (B) above (D) None of the above

102. Right to claim dividend will arise only after dividend is declared by a company in general meeting
and until and unless it is so declared, the shareholder has no claim against company in respect of
it. This was held in the case of
(A) Maruti U Rao  v/s Pendyala (1970)
(B) Govt. Stock Investment Co. Ltd v/s Manila Railway Co. Ltd. (1879)
(C) Bacha F Guzdar (Mrs.) v/s CIT (1955)
(D) None of the above

103. Which of the following account may have Debit or Credit Balance?
(A) Miscellaneous Expense Account
(B) Current Account of a Partner
(C) Purchase Account
(D) None of the above

104. The abbreviation NFRA stands for
(A) National Financial Regulation Authority
(B) National Financial Reporting Authority
(C) National Financial Regulatory Authority
(D) None of the above

105. According to Section 2(40) of the Companies Act 2013 financial statement in relation to a company
does not include
(A) A balance sheet as at the end of the financial year
(B) A profit and loss account / income and expenditure account for the financial year
(C) Fund flow statement for the financial year
(D) None of the above

106. According to Section 52(2) of the Companies Act premiums on the issue of securities can be
utilized for
(A) Issue of fully paid up bonus shares to members
(B) Distribution of profit
(C) Meeting loss on the sale of fixed assets
(D) None of the above

107. Where the auditor of the company resigns, the vacancy arising there from can be filled by the
company only at
(A) General meeting (B) Board meeting
(C) Audit committee meeting (D) None of the above

108. Change of registered office of a company from one city to another city in the same state but
falling under the jurisdiction of two Registrars of Companies is required to be approved by
(A) Central Government (B) Registrar of Companies
(C) Regional Director (D) None of the above
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109. When a company issues a debenture at par or at a discount which are redeemable at a premium
the premium payable on the redemption of the debentures is to be treated as
(A) Deferred Revenue Expenditure (B) Revenue Loss
(C) Capital Loss (D) None of the above

110. Which one of the following should be deducted from the called - up share capital to find out paid
up share capital
(A) Share forfeiture (B) Call in advance
(C) Calls in arrears (D) None of the above

111. As per provisions of C&AG Act the tenure of the office of Comptroller and Auditor General is
(A) 6 years or 65 years of age whichever is earlier
(B) 5 years or 65 years of age whichever is earlier
(C) 6 years or 62 years of age whichever is earlier
(D) 5 years or 62 years of age whichever is earlier

112. As per Section 80 of Companies Act 2013, before the preference shares are redeemed the premium
if any payable on redemption must be provided for
(A) Out of profits of the company (B) Out of the share premium
(C) Either (A) or (B) above (D) None of the above

113. As per _______ of the Companies Act 2013 a company may issue fully paid up bonus shares to its
members out of the Free Reserves; Securities Premium Account; Capital Redemption Reserve
Account
(A) Section 63(2) (B) Section 63(3)
(C) Section 63(4) (D) None of the above

114. Special Resolution authorizing the company for issue of sweat equity shares is valid for making
the allotment of such shares within a period of not more than
(A) 24 months from the date of passing the resolution
(B) 12 months from the date of passing the resolution
(C) 09  months from the date of passing the resolution
(D) None of the above

115. Section 137 of Companies Act 2013 requires every company to file the financial statements with
the registrar of Companies within _______ days from the day on which Annual General Meeting
adopted the financial statements
(A) 90 (B) 60
(C) 30 (D) None of the above

116. The provisions regarding mandatory rotation of auditors under Section 139 of the Companies
Act 2013 are applicable to
(A) All listed Companies
(B) All unlisted Companies having a paid up share capital of 10 crore or more
(C) All private limited Companies having a paid up share capital of 20 crore or more
(D) All of the above

117. According to Section 134 of the Companies Act 2013 an auditor can provide which of the following
additional services to the company he is auditor of?
(A) Accounting and book keeping
(B) Design and implementation of any financial information system
(C) Both (A) and (B) above
(D) None of the above
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118. Under the provisions of Companies Act 2013 who can be an internal auditor of a company
(A) A Chartered Sccountant
(B) A Cost Accountant
(C) Such other professional as may be decided by Board of Directors to conduct internal audit

of the company’s activities
(D) All of the above

119. When demand forecasting is difficult which budget is prepared
(A) Sales budget (B) Production budget
(C) Flexible budget (D) None of the above

120. _______ is a cost that does not change steadily with changes in activity, volume but rather at
discrete points
(A) Step cost (B) Imputed cost
(C) Fixed cost (D) None of the above

121. Sales forecast of POR Ltd. for the next three months is as follows:
May: 1,12,000 units
June: 1,20,000 units
July: 1,25,000 units
As per company’s policy closing stock should be equal to 10% of the coming months sales forecast.
How many units should be produced in June
(A) 1,20,000 (B) 1,21,300
(C) 1,32,500 (D) None of the above

122. Which of the following is not a cost price method of pricing of material issues
(A) LIFO (B) HIFO
(C) FIFO (D) None of the above

123. The statutory auditor of a company submits its report to the _______ in case the auditor uncovers
any fraud during his audit
(A) Board of Directors of the company (B) Registrar of Company
(C) Shareholders in General Meeting (D) None of the above

124. 4000 kg material is purchased @ Rs.2 per kg. Normal wastage is estimated at the rate of 10%.
The wastage has recovery value of Rs.1.10 per kg. Calculate the cost of material of a work order
of 600 units, if each unit required 1.5kg of material
(A) Rs. 1860/- (B) Rs. 1960/-
(C) Rs. 1890/- (D) Cannot be determined with given data

125. Current liabilities of a firm are Rs.10,50,000/-. Its current ratio is 3:1and liquid ratio is 1:1. The
value of stock will be
(A) Rs. 21,00,000/- (B) Rs. 20,50,000/-
(C) Rs. 11,50,000/- (D) None of the above

126. In a situation of rising prices, profit and tax liability would be lower under _______ method
than under _______ method of material issue pricing
(A) FIFO ; LIFO (B) LIFO ; FIFO
(C) FIFO ; Average (D) LIFO ; Average
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127. Which of the following statement is correct
(A) Lower debt equity ratio means lower financial risk
(B) Increase in net profit ratio means increase in sales
(C) Interest coverage ratio depends upon tax rate
(D) None of the above

128. The average collection period is 15 days and average account receivables is Rs.45,000/- the total
amount of credit sales will be Rs. _______. (Assume 360 days in a year)
(A) Rs. 10,80,000/- (B) Rs. 16,20,000/-
(C) Rs. 6,75,000/- (D) None of the above

129. X is an employee in a private event management company. In the previous year he received
salary Rs.2,20,000/- and entertainment allowance Rs. 3000/- per month. He spent Rs.26,000/- on
entertainment. Under Section 16(ii) he is entitled to deduction of _______
(A) Rs. 22,000/- (B) Rs. 26,000/-
(C) Rs. 5,000/- (D) None of the above

130. Deduction under 80C of Income Tax Act 1961 can be claimed for fixed deposit if the minimum
period of deposit is
(A) 5 years (B) 7 years
(C) 9 years (D) None of the above

131. Amit is the owner of a house, the details of which are as follows: Municipal Value Rs.88,000/-;
Actual Rent Rs. 1,12,000/-; Fair Rent Rs. 1,18,000/-; Standard Rent Rs. 1,12,000/-. The Gross
Annual Value would be
(A) Rs. 88,000/- (B) Rs. 1,12,000/-
(C) Rs. 1,18,000/- (D) None of the above

132. Interest free loan to an employee, where the loan is provided for medical treatment of specified
disease and amount of loan does not exceed any one of the following shall be treated as the tax
free perquisite
(A) Rs. 10,000/- (B) Rs. 20,000/-
(C) Rs. 25,000/- (D) None of the above

133. If there is no specific IND - AS available then selection of accounting policies depend upon
(A) Relevance criteria (B) Substance Over Form criteria
(C) Neutrality criteria (D) All of the above

134. Arrears of salary of Rs. 20 lakhs will be paid during the current year, as per the court judgment
delivered in the current year. At the end of previous year, company assessed that arrears would
not be required to be paid. So no provision was made at the end of the previous year. As per IND
–AS-8 it is
(A) Prior period error (B) Change in errors
(C) Change in accounting estimates (D) None of the above

135. When a change in accounting policy is applied retrospectively as per IND AS 8, the entity shall
adjust the opening balance of
(A) Each affected component of equity for the earliest prior period presented
(B) The comparative amounts disclosed for each period presented as if the new policy has been

applied
(C) Both (A) and (B) above
(D) None of the above
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136. According to IND AS 10 an event after the reporting period that is indicative of a condition that
arose after the end of the reporting period is called _______.
(A) Adjusting event (B) Non adjusting event
(C) Non reporting event (D) None of the above

137. Which statement is true with respect to IND AS 16.
(i)   Cost of dismantling is not included in the cost of property, plant and equipment at the time

of initial measurement
(ii)  Cost of dismantling is  included in the cost of property, plant and equipment at the time of

subsequent valuation
(iii)  Estimated cost of dismantling is to be included in the cost of property, plant and equipment

and will be at present value as per IND AS 37.
(iv)  Cost of dismantling is not considered at all
(A) (i) (B) (ii)
(C) (iii) (D) (iv)

138. Which of the following is directly attributable cost included in the initial measurement of cost of
property, plant and equipment as per IAS 16
(A) Training cost (B) Professional fees
(C) Initial operating losses (D) None of the above

139. When asset is derecognized under IND AS 16 what accounting treatment is done for available
balance in revaluation surplus account
(A) Directly transferred to retained earning account
(B) First transfer to profit and loss account then transfer to retained earning account
(C) Revaluation surplus remains available in the books as excess depreciation
(D) None of the above

140. A company sells goods on extended credit. The goods are sold for Rs. 40,000/- on January 01,
2019, receivable on January 01, 2021. The customer can borrow at 10% per year. How much
revenue should be recorded in the books of transaction date as per IND AS 18
(A) Rs. 40,000/- (B) Rs. 33,040/-
(C) Rs. 23,080/- (D) None of the above

141. IND AS 18 is applied in accounting for revenue arising from
(A) Leases (B) Insurance contract
(C) Extraction of mineral oil (D) None of the above

142. How short term employee benefits are recognized in the books as per IND AS 19
(A) Undiscounted amount of short term employee benefit
(B) When employee rendered services
(C) When employee rendered services, undiscounted amount of short term employee cost is

recognized
(D) When employee rendered services, discounted amount of short term employee cost of

recognized
143. Which statement is correct about Vesting Paid Absence with reference to IND AS 19

(A) Entitlement of cash payment is not conditional on future employment
(B) Entitlement of cash payment is conditional on future employment
(C) Cash payment does not arise
(D) None of the above
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144. How periodical contribution paid by employer under multi employer plan is recorded in the
books of account?
(A) Debited in multi-employer plan account and credited to bank account
(B) Debited in expenses account and credited to bank account
(C) Debited to multi employer plan account and credited payable account
(D) None of the above

145. In which plan Projected Unit Credit Method is being used?
(A) Multi employer plan (B) State plan
(C) Insured plan (D) Defined benefit plan

146. According to the installment method of accounting, gross profit on an installment sale is
recognized as income
(A) On the date of sale
(B) On the date of final cash collection received
(C) In proportion to the cash collection
(D) None of the above

147. For financial assets classified as trading securities, how are unrealized gains and losses reflected
in shareholder’s equity
(A) They are not recognized
(B) They flow through income into retained earnings
(C) They are a component of accumulated other comprehensive income
(D) None of the above

148. Money received from customers for products to be delivered in the future is recoded as
(A) Revenue and an asset (B) An asset and a liability
(C) Revenue and a liability (D) None of the above

149. A private company is required to appoint internal auditor when
(A) Turnover of two hundred crore rupees or more during the preceding financial year
(B) Outstanding loans or borrowings from banks or financial institutions exceeds Rs. 100 crore

or more at any time during preceding year
(C) Paid up share capital of Rs.50 crore or more during preceding financial year
(D) Either (A) or (B) above

150. An auditor who is appointed in first annual general meeting of the company shall continue upto
(A) The wish of the management or Board of Directors
(B) Next annual general meeting
(C) Sixth annual general meeting
(D) None of the above

151. There is deterioration in the management of working capital of XY Ltd. What does it refer to
(A) That the capital employed has reduced
(B) That the profitability has gone up
(C) That debtors collection period has increased
(D) That sales has decreased
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152. Who is entitled to appoint an auditor in case of casual vacancy?

(A) Board of Directors if audit of company is governed by CAG

(B) Annual General Meeting if audit of company is governed by CAG

(C) CAG if audit of company is governed by CAG

(D) None of the above

153. An auditor appointed under Section 139 may be removed from his office before the expiry of his
term by

(A) A special resolution only

(B) A special resolution of the company after obtaining the prior  approval of central government

(C) An ordinary resolution

(D) None of the above

154. A decision to increase D.A. was taken in March 2019 with retrospective effect from 01/04/2017
and the increased D.A. is received in April 2019, the increase is taxable

(A) In the previous year 2017-18 (B) In the previous year 2018-19

(C) In the previous year 2019-20 (D) None of the above

155. Treatment of unrealized rent for determining income from house property is

(A) To be deduced from expected rent

(B) To be deducted from Actual rent

(C) To be deducted under Section 24 from annual rent

(D) None of the above

156. Municipal taxes to be deducted from gross annual value should be

(A) Paid by tenant during the previous year

(B) Paid by the owner during the previous year

(C) Accrued during the previous year not necessary to pay

(D) None of the above

157. An assesses uses plant and machinery for the purpose of carrying on his business under Section
31 he shall be eligible for deduction on account of

(A) Both capital and revenue expenditure on repairs

(B) Current repairs

(C) Current repairs plus 1/5th of capital expenditure on repairs

(D) Both (A) and (B)

158. Transport allowance granted to an employee to meet his expenditure for the purpose of commuting
between the place of his residence and the place of his duty is exempted upto

(A) Rs. 1800/- per month (B) Rs 1200/- per month

(C) Rs. 800/- per month (D) None of the above

159. As per Section 10(10C) of the IT Act 1961 any amount received by an employee of an public
sector company on voluntary retirement is exempt upto

(A) Rs. 5 Lakhs (B) Rs. 10 Lakhs

(C) Rs 15 Lakhs (D) None of the above
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160. The amount of tax, interest, penalty , fine or any other sum payable and the amount of refund
due, under the provisions of the Income Tax Act shall be rounded off to the nearest multiple of

(A) Rs.10/- (B) Rs. 50/-

(C) Rs. 100/- (D) None of the above

161. An amount of Rs.3,00,000/- is received by Patel  & Co. as a compensation for premature
termination of contract of agency in the month of April 2018 is to be treated as

(A) Income from other sources

(B) Taxable under Section 28(ii) as income from business / profession

(C) Revenue receipt which is exempt
(D) None of the above

162. As per Rule 7(A) of Income Tax Rules 1962, income derived from growing, manufacturing and
sale of Centrifuged Latex or Cenex or Latex based Crepes shall be taken as agriculture and non
agriculture income in the following ratio

(A) 75% and 25% (B) 60% and 40%

(C) 65% and 35% (D) None of the above

163. For the assessment year 2019 -20 the maximum amount of gratuity exempt under income tax
Act is

(A) Rs. 5,00,000/- (B) Rs. 10,00,000/-

(C) Rs.15,00,000/- (D) None of the above

164. Where the total turnover of an assesse, eligible for presumptive taxation under Section 44AD is
received entirely by account payee cheque during the previous year 2018-19, the specified rate
of presumptive business income is
(A) 5% of total turnover (B) 6% of total turnover

(C) 7% of total turnover (D) None of the above

165. The WDV of a block (Plant and Machinery, rate of depreciation 15%) as on 01/04/2018 is
Rs.3,20,000/- A second hand machinery costing Rs.50,000/- was acquired on 01/09/2018 but put
to use on 01/11/2018. During the January 2019 part of this block was sold for Rs. 2,00,000/- The
depreciation for accounting year 2019-20 would be

(A) Rs. 21,750/- (B) Rs. 25,500/-

(C) Rs. 21,125/- (D) None of the above

166. Alcoholic liquor for human consumption is subjected to

(A) Existing state levies (B) Central excise duty

(C) Both (A) and (B) above partially (D) Goods and Service Tax
167. Where the goods against an invoice are received in installments, the registered taxable person

shall be entitled to the credit upon receipt of the _______ installment

(A) First (B) Last

(C) Any time during the installment (D) At the time of payment of each installment

168. Mr. A buys a passenger car worth Rs. 30,00,000/- with GST Rs.80,000/- He deals in furniture and
electronics and uses the car to travel to his showroom. In this case Input Tax Credit of the GST
will be

(A) Allowed (B) Not allowed

(C) Only 50% allowed (D) None of the above
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169. As per Section 16(3) of the GST Act, in case the registered taxable person has claimed depreciation
on the tax component of the value of capital goods, Input tax credit on the said tax component
shall
(A) Be allowed (B) Not be allowed
(C) Only 50% allowed (D) None of the above

170. A registered manufacturing dealer purchased goods worth Rs.100,000/- with CGST Rs.9000/-
@ 9% and SGCT Rs. 9000/-@ 9%. If output is exempt from GST how much input tax credit is
available
(A) Only CGST Rs. 9000/-
(B) Only SGST Rs. 9000/-
(C) Both CGST and SCST of Rs. 9000/- each
(D) Nil

171. Which return is to be submitted for outward supply
(A) GSTR - 2A (B) GSTR - 1A
(C) GSTR - 1 (D) None of the above

172. What are the supplies on which reverse charge mechanism would apply?
(A) Notified categories of goods or services or both u/s 9(3)
(B) Inward supply of goods or services or both from an unregistered dealer u/s 9(4)
(C) Both (A) and (B) above
(D) None of the above

173. Sitting fees received by Director of XYZ Ltd. is liable for GST in the hands of
(A) Director of the company
(B) XYZ Ltd.
(C) 50% by Director and 50% by XY ZLtd.
(D) Fully exempt

174. In case of service by an insurance agent to Ms. ABC Insurance Co. Ltd. GST is to be paid by
(A) Insurance agent
(B) Ms. ABC Insurance Co. Ltd.
(C) Proportionally by both company and insurance agent
(D) Both are exempt

175. Under the provisions of Income Tax Act,  short term Capital Loss can be set off against _______
in the same assessment year
(A) Short term capital gains
(B) Long term capital gains
(C) By both short term and long term capital gains
(D) None of the above

176. In excel to hide rows and columns  we have to select cells in the rows and columns we want to
hide then press
(A) CTRL + 9 (B) CTRL + 7
(C) CTRL + 5 (D) None of the above

177. What is the use of Shift + F11 in MS Excel
(A) Delete existing sheet (B) Insert a new sheet
(C) Merge two sheets (D) None of the above
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178. Which one is not a function in MS Excel
(A) AVG (B) SUM
(C) MAX (D) MIN

179. How can you set page border in MS Excel?
(A) From Edit menu (B) Form Home menu
(C) From Tool menu (D) Cannot set page border in excel

180. In MS Excel what is the function of Freeze Panes
(A) To lock any row or column (B) To lock references
(C) To lock formula (D) None of the above

181. _______ in Excel hides details, showing only the header and summarizing rows and columns
(A) Solver (B) Goal seek
(C) Scenario manager (D) Auto outline

182. What is the use of document map in MS word
(A) Quickly navigate through a long word document
(B) Quickly print required page
(C) To quickly format the document
(D) None of the above

183. How to select one hyperlink after another during a slide presentation
(A) CTRL + K (B) CTRL + D
(C) TAB (D) None of the above

184. Which option can be used to set custom timings for slides in a presentation
(A) Slider timings (B) Slider timer
(C) Rehearsal (D) None of the above

185. Shortcut to insert new slide in the current presentation is
(A) CTRL + O (B) CTRL + F
(C) CTRL + M (D) CTRL + N

186. In Microsoft PowerPoint two kind of sound effects files that can be added to the presentation
(A) .wav files and .mid files (B) .wav files and .gif files
(C) .jpg files and .wav files (D) None of the above

187. When production levels are expected to decline within a relevant range and the flexible budget
is used, what effects would be anticipated with respect to each of the following

Fixed Cost / Per  Unit Variable Cost / Per Unit
(A) Increase Increase
(B) Increase No change
(C) No change No change
(D) No change Increase

188. New equipment is expected to be purchased by cheque in June of forthcoming period. Details
are – Cost Rs. 1,60,000/- ; life 5 years ; scrap value Rs. 40,000/- ; depreciation to be charged on
Straight Line Method. The amount of depreciation which will be included in cash budget for the
month of June will be
(A) Rs. 2,000/- (B) Rs.26,670/-
(C) Rs. 24,000/- (D) None of the above

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



APM - A ] 21 [ P.T.O.

189. Which of the following items is the last schedule to be prepared in the normal budget preparation
process
(A) Cost of goods sold budget (B) Direct labour budget
(C) Selling expense budget (D) Cash budget

190. A firm maintains a separate account for cash disbursement. Total disbursements are for
Rs. 1,05,000/- per month or Rs. 12,60,000/- per year. Cost of transferring cash to disbursement
account is Rs. 20/- per transfer. Marketable securities yield is 8% p.a. Determine the optimum
cash balance according to William J Baumol Model
(A) Rs. 24,200/- (B) Rs. 25,100/-
(C) Rs. 25,800/- (D) Rs. 24,100/-

191. A company expects its cost of goods to be Rs. 136 crore. The operating cycle is 54 days. Minimum
cash balance to be maintained at Rs. 1.5 crore to meet emergencies. What is the expected working
capital requirement for the year. Assuming 360 days a year
(A) Rs. 114 crore (B) Rs. 906.67 crore
(C) Rs. 21.89 crore (D) None of the above

192. What do you mean by “2/10 Net 30”
(A) Means that if the amount due is paid within 10 days customer will enjoy a 2% cash discount.

Otherwise the amount is due in full within 30 days.
(B) Means that if the amount due is paid within 10 days customer will enjoy a 2% trade discount.

Otherwise the amount is due in full within 30 days.
(C) Means if the amount due is paid between 10 to 30 days customer will get 2% cash discount
(D) None of the above

193. A company issues cheques of Rs.1,00,000/- everyday and receives cheque of Rs. 5,00,000/-
everyday. The payment float is 8 days while the receipt float is 3 days on an average. What is
disbursement float, collection float and net float respectively?
(A) Rs. 8,00,000/- ; Rs 1,50,000/-; Rs 1,50,000/-
(B) Rs. 6,50,000/- ; Rs 1,50,000/-; Rs 50,000/-
(C) Rs. 4,00,000/- ; Rs 50,000/-; Rs 1,50,000/-
(D) None of the above

194. Which option(s) below is true relating to One Person Company (OPC)
(A) A natural person shall not be a member and nominee of more than a One Person Company

(OPC) at any point of time.
(B) OPC cannot be incorporated or converted into a company under Section 8 of the Companies

Act
(C) OPC cannot carry out non banking financial services
(D) All of the above

195. The last word in the name of a company shall state “Limited” but it is not necessary for
(A) Private Companies (B) Companies formed under Section 8
(C) Public Companies (D) None of the above

196. Which of the following is not content of Memorandum of Association
(A) Name clause (B) Registered office clause
(C) Object clause (D) Board of Directors clause
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197. The registrar shall register any alteration of the memorandum with respect to the object of the
company and certify the registration within a period of _______ from the date of filing of the
special resolution
(A) 30 days (B) 60 days
(C) 90 days (D) None of the above

198. According to _______ of Companies Act 2013 every company on being requested by a member
for the Memorandum of Association document shall send it within _______ days
(A) Section 16 ; 14 days (B) Section 17 ; 7 days
(C) Section 18 ; 21 days (D) None of the above

199. What is correct with reference to issue of equity shares with differential rights
(A) Equity shares differential rights shall not exceed 20% of total post issue paid up capital
(B) Equity shares differential rights shall not exceed 26% of total post issue paid up capital
(C) The company is having consistent track record of distributable profit for the last three years
(D) Both (B) and (C) above

200. The balance of Security Premium Account under Section 52 of Companies Act 2013 can be
applied for
(A) The purpose of purchase of own shares under Section 68
(B) Conversion of partly paid up shares into fully paid up shares
(C) Declaration of Dividend
(D) None of the above

201. What is the correct about issue of shares
(A) Shares cannot be issued at premium over 100%
(B) Shares can be issued at discount
(C) Sweat Equity Shares under Section 54 can be issued at discount
(D) None of the above

202. When does an amount equivalent to nominal value of preference shares to be redeemed is to be
transferred to capital redemption reserve account
(A) When the redemption is made out of profit
(B) When the redemption is made out of fresh issue of shares
(C) When cumulative preference shares are redeemed
(D) None of the above

203. Which statement is false regarding capitalization of profits for the purpose of issuing bonus
shares
(A) The company must be authorized by articles
(B) No need to convert partly paid up shares into fully paid us shares
(C) It has been authorized in the general meeting of the company
(D) None of the above

204. What is the maximum limit of buyback of own shares
(A) 25% or less of aggregate of paid up capital and free reserves of the company
(B) 25% or less of the paid up capital
(C) 35% or less of the aggregate of paid up capital and free reserves of the company
(D) None of the above
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205. Buy back of shares can be done

(A) From the existing shareholders on a proportionate basis

(B) From the open market

(C) By purchasing the securities issued to employees of the company pursuant to a scheme of
stock option or sweat equity

(D) Either (A) or (B) or (C) or from all of the above

206. What is the maximum limit of declaration of dividend as per Rule 3 of Companies (Declaration
and Payment of Dividend) Rules 2014

(A) The rate of dividend declared shall not exceed the average of the rates at which dividend was
declared by it in the 03 years immediately preceding that year.

(B) The total amount to be drawn from such accumulated profits shall not exceed one-tenth of
the sum of its paid up share capital and free reserves as appearing in the latest audited
financial statement

(C) The balance of reserves after such withdrawal shall not fall below fifteen percent of its paid
up share capital as appearing in the latest audited financial statement

(D) All of the above

207. Declared dividend but not paid or claimed by the shareholder is to be transferred to

(A) Unclaimed Dividend Account (B) Unpaid Dividend Account

(C) Unpaid Dividend Payable Account (D) Investor Education Fund Account

208. Which of the following amount is not credited to Investor Education and Protection Fund Account

(A) Maturity deposit with company (B) Profit on sale of asset

(C) Matured debentures with Companies (D) None of the above

209. If declared dividend has not been paid or the warrant in respect thereof has not been posted
within 30 days from the date of declaration to any shareholder entitled to the payment of dividend,
the company shall also be liable to pay simple interest at the rate of _______ p.a. during the
period for which such default continues

(A) 5% (B) 6%

(C) 15% (D) None of the above

210. Each company shall keep the books of accounts in good order relating to a period which must
not be less than _______ financial years immediately preceding a financial year.

(A) 5 (B) 8

(C) 12 (D) 16

211. CSR committee on board consist of

(A) Directors forming 1/3rd of total number of directors

(B) At least 2 directors

(C) 3 or more directors out of which at least one director shall be independent

(D) None of the above

212. Employer’s contribution to Recognized Provident Fund (RPF) in excess of 12% of salary income
of an employee shall be treated as

(A) Taxable income from salaries (B) Exempted income

(C) Deemed income from salaries (D) None of the above
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213. Which statement is true regarding signing authority on financial statement
(A) In case of one person company financial statement shall be signed by only one director
(B) The chairperson of the company where he is authorized by board
(C) The chief financial officer
(D) All of the above

214. One person company shall file a copy of the financial statements duly adopted by its members,
along with all the documents which are required to be attached to such financial statements
within _______ days from the closure of financial year
(A) 60 (B) 120
(C) 180 (D) None of the above

215. How amortization amount is being determined for intangible assets created under Build Operate
and Transfer as per schedule II of the Companies Act 2013
(A) Cost of intangible asset / life of intangible asset
(B) Cost of Intangible Asset x Actual Revenue for the year Projected Revenue from Intangible

Assets
(C) Not required as per Companies Act 2013
(D) None of the above

216. Deferred tax asset are shown under the head of balance sheet as
(A) Noncurrent assets
(B) Not shown in balance sheet. Shown as footnotes
(C) Current assets
(D) None of the above

217. The term fixed assets is shown in the balance sheet when
(A) Financial statements of a company are drawn up in compliance of the Companies (Indian

Accounting Standards) Rules 2006
(B) Financial statements of a company are drawn up in compliance of the Companies (Indian

Accounting Standards) Rules 2018
(C) Both A and B above
(D) None of the above

218. If any of the provisions of Section 139 to 146 of Companies Act 2013 is contravened the company
shall be punishable with fine
(A) Which shall not be less than Rs.20,000/-
(B) Which shall not be less than Rs. 25,000/- but which may extend upto to Rs. 5,00,000/-
(C) Which shall not be less than Rs. 50,000/- but which may extend upto Rs. 8,00,000/-
(D) None of the above

219. When profit as per tax law is more than profits as per books of accounts _______ is required to
be created
(A) Revenue tax asset (B) Deferred tax asset
(C) Provision for tax asset (D) None of the above

220. What feature will you use to apply motion effects in between a slide exits and another enters
(A) Slide transition (B) Slide design
(C) Slide animation (D) None of the above
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221. As per the constitution Act 2016, in case of a voting, every decision of the GST council has to be
taken by a majority of not less than _______ of the weighted votes of the members present.
(A) Two third (B) Three fourth
(C) Fifty percent (D) None of the above

222. Under GST law states were guaranteed to be paid for any loss of revenue in the first _______ of
GST implementation which came into force from 01 July, 2017
(A) 5 years (B) 7 years
(C) 10 years (D) None of the above

223. A dealer opting for composition scheme is required to furnish only 01 return which is _______.
This return is furnished once in a year by _______ following a financial year.
(A) GSTR-4 ; 30th April (B) GSTR-3 ; 30th June
(C) GSTR -5; 30th August (D) None of the above

224. GSTR-9 is required to be filled by all the taxpayers registered under GST, except the taxpayer
(A) Who have opted for composition scheme (B) Who are not resident taxable person
(C) Who are input service distributors (D) All of the above

225. When movement of goods is of more than _______ in value, e-way bill must accompany the
goods at the time of transportation
(A) Rs.1,50,000/- (B) Rs.1,00,000/-
(C) Rs.75,000/- (D) None of the above

226. In which of the following cases, a lease may be classified as a financial lease as per Accounting
Standard 19?
(A) In case if the lessee cancels the lease, the losses of the lessor are to be borne by the lessee
(B) Gain or loss due to fluctuation in the fair value of the asset falls on lessee
(C) The lessee can continue the lease for another period at a rent which is substantially lower

than market rent
(D) All of the above

227. Which of the following lease arrangements are not covered under Indian Accounting Standard 19
(A) Lease arrangements to explore for or use natural resources
(B) Lease arrangements for items such as motion picture films and video recordings
(C) Lease arrangements for patents and copyrights
(D) All of the above

228. An interior decorator has opted for presumptive taxation scheme under Section 44DA for AY
2019-20. He is liable to pay advance tax
(A) In single installment (B) In two installment
(C) In three installment (D) In four installment

229. According to prudence convention the closing stock of the business is to be shown in accounts at
(A) Cost price (B) Market price
(C) Average of cost price and market price (D) None of the above

230. _______ means an account established by the committee in the name and the benefit of a
participant, to record accruals of cash and / or stock or stock units under the plan that remains
subject to time restrictions
(A) Wrap account (B) Constant purchasing power account
(C) Memorandum account (D) None of the above
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231. As per trial balance, sundry debtors are Rs. 45,000/- and sales are Rs. 50,000/-. Goods sent on
approval basis to Mr. X of Rs. 5000/- which is due and the cost price of the same is Rs. 4000/-.
What will be the correct entry / entries at the time of preparing final account if the value of
closing stock is Rs. 55,000/-
(A) Value of closing stock will be Rs.60,000/
(B) Value of closing stock will be Rs. 59,000/-  and debtors will be Rs. 45,000/-
(C) Closing stock will be Rs. 59,000/- ; debtors will be Rs.40,000/- and sales will be Rs.45,000/-
(D) None of the above

232. The fixed asset of XYZ limited has been impaired recently in the FY 2015-16. In the FY 2016-17
there was an upward revaluation of the fixed assets. What should be the treatment as per AS10.
(A) Credit to Revaluation Reserve Account (B) Credit to Profit and Loss Account
(C) Show it as a Prior Period Item (D) None of the above

233. Mrs. X is a non resident having total income other than long term capital gains as
Rs. 2,80,000/-. Long term capital gains from sale of listed securities is Rs.10,000/- (STT paid on
sale and purchase of shares) Calculate income tax liability of Mrs. X for the assessment 2019-20
(A) Rs. 1560/- (B) Rs. 3640-
(C) Rs. 1800/- (D) None of the above

234. Given (Rs. in Lakhs) :
Cost of Plant Rs.1000; Accumulated Depreciation Rs. 250; Carrying amount Rs. 750. How much
amount should be debited or credited to Revaluation Surplus Account under Elimination Method
if the plant is revalued at Rs1100.
(A) Rs. 350 lakh debited (B) Rs 850 lakh credited
(C) Rs. 500 lakhs credited (D) Rs 350 lakh credited

235. The following data apply to company’s Defined Benefit Pension Plan for the year
Fair market value of plan asset (beginning of the year) = Rs.4,00,000/-
Fair market value of plan asset (end of the year) = Rs.5,70,000/-
Employer contribution = Rs.1,40,000/-
Benefit paid = Rs. 1,00,000/-
(A) Rs. 1,30,000/- (B) Rs. 2,30,000/-
(C) Rs. 2,10,000/- (D) None of the above

236. Aditya is provided with rent free unfurnished accommodation by his employer in Mumbai. The
value of perquisite in the hands of Aditya is
(A) 20% of salary (B) 15% of salary
(C) 10% of salary (D) None of the above

237. From assessment year 2018-19 the loss from house property head that will be allowed to be set
off from other heads of income is restricted to _______ in a particular assessment year and the
rest amount shall be carried forward for set off in subsequent years
(A) Rs. 1,50,000/- (B) Rs. 2,00,000/-
(C) Rs. 2,50,000/- (D) None of the above

238. Is purchase of oil seeds of Rs. 50,000/- in cash from a farmer on a banking day allowable while
computing income from business or profession for the assessment year 2019-20.
(A) Allowable as deduction the entire amount of Rs.50,000/-
(B) Not allowed because cash payment exceeds Rs. 10,000/-
(C) Only Rs.10,000/- allowed as deduction balance is taxable
(D) None of the above
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239. The maximum amount which can be donated in cash for claiming deduction under Section 80G
is
(A) Rs. 2000/- (B) Rs. 5000/-
(C) Rs. 10,000/- (D) None of the above

240. The rate of TDS on rental payments of Plant, Machinery or Equipment is
(A) 10% (B) 5%
(C) 2% (D) None of the above

241. The presumptive taxation scheme of Section44AD can be adopted by
(A) Residential individual
(B) Resident Hindu undivided family
(C) Resident partnership firm (not limited liability partnership firm)
(D) All of the above

242. The control key to open a new tab in an internet browser or adjust tabs in word processor is
(A) CTRL + T (B) CTRL + U
(C) CTRL +  D (D) None of the above

243. Deferred cost refers to
(A) Unexpired cost which provide benefit in future period
(B) Liability
(C) Expense which is incurred and totally used in generation of revenue
(D) None of the above

244. Cost incurred in the past which are not relevant to a future decision is
(A) Full absorption cost (B) Under allocated indirect cost
(C) Sunk cost (D) None of the above

245. The minimum number of members in a private company and public company are
(A) Three and seven respectively (B) Two and seven respectively
(C) Three and nine respectively (D) None of the above

246. In case of a _______ company General Meeting of a company may be called by giving not less
that clear 14 days notice either in writing or through electronic mode in such manner as may be
prescribed
(A) Section 101 (B) Section 111
(C) Section 8 (D) None of the above

247. What is the maximum time limit for redemption of Preference Shares issued by other than
infrastructure projects
(A) 10 years (B) 20 years
(C) 15 years (D) None of the above

248. The Subscribed Capital of a company is
(A) Never more than issue capital (B) Never less than issue capital
(C) Always equal to the issue capital (D) Prescribed percentage of the issue capital

249. Provisions of CSR are applicable to
(A) Companies with net worth of Rs. 500 crore or more
(B) Companies with turnover of Rs.1000 crore or more
(C) Companies with net profit of 5 crore or more in any financial year
(D) All of the above
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250. As per _______ of the Companies Act 2013 consent of the members is required for exempting
the auditors of the company to attend the general meetings
(A) Section 146 (B) Section 145
(C) Section 147 (D) None of the above

251. What is the useful life of a factory building as per schedule II of Companies Act 2013
(A) 60 years (B) 25 years
(C) 30 years (D)  None of the above

252. The practice of appending notes regarding contingent liabilities in accounting statements is in
pursuance to
(A) Convention of Consistency (B) Money Measurement Concept
(C) Convention of Conservation (D) Convention of Disclosure

253. Goods given as samples should be credited to
(A) Advertisement account (B) Sales account
(C) Purchase account (D) Goods on sample account

254. Amount of Rs. 25,000/- given as festival advance to an employee is
(A) Revenue expenditure (B) Deferred revenue expenditure
(C) Capital expenditure (D) Not an expenditure

255. As per Accounting Standard 10 when a fixed asset is acquired or in partial exchange of another
asset, the cost of the acquired asset should be recorded at
(A) Fair market value of the asset acquired (B) Net book value of the asset given up
(C) Lower of (A) or (B) above (D) None of the above

256. _______ of an asset is its cost or other amount substituted for the cost in the books of account,
without making any deduction for accumulated depreciation and accumulated impairment losses
(A) Gross carrying amount (B) Enterprise specific amount
(C) Fair value (D) None of the above

257. Goods seized by authorized officer can be released on a provisional basis upon execution of a
bond for the value of goods and furnishing of security. The bond so executed will be form no
(A) GST INS 06 (B) GST INS 03
(C) GST INS 04 (D) None of the above

258. The proceeds of the cess levied under Section 8 and such other amount as may be recommended
by the council, shall be credited to a non lapsable fund known as the
(A) Goods and Service Tax Compensation Fund
(B) Goods and Service Tax GoI Fund
(C) Goods and Service Tax Collection Fund
(D) None of the above

259. Input service distributor shall file the return GSTR 6 for the input service distributed by the
_______ of the succeeding month
(A) 10th (B) 15th

(C) 20th (D) None of the above
260. A casual taxable person or a non resident taxable person shall be required to apply for registration

at least _______ days prior to the commencement of business
(A) 05 (B) 10
(C) 20 (D) None of the above
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261. The dual GST model adopted by India finds similarities with the model of

(A) France (B) Canada

(C) Argentina (D) None of the above

262. Maximum amount of deduction in the case of an individual who is resident in Indian, a patentee
and in receipt of income by way of royalty in respect of a patent registered on or after the
required date under the patents Act 1970 is allowed

(A) 75% of such income (B) 50% of such income

(C)  Rs. 3 lakh (D) None of the above

263. Angel Ltd paid Rs.3,00,000/- on 22/12/2018 in IIT with a specific direction that the sum shall be
used for scientific research programme approved by the Government of India. The amount of
deduction eligible under Section 35 (2AA) of Income Tax Act 1961 is

(A) 100% of the sum so paid (B) 75% of the sum so paid

(C) 50% of the sum so paid (D) 150 % of the sum so paid

264. Which of the following is / are essential condition(s) for deduction under Section 37(1) of Income
Tax Act

(A) Such expenditure should not be covered under the specific Section that is Sections 30 to 36

(B) Expenditure should not be of capital nature

(C)  Both (A) and (B) above

(D) None of the above

265. The process of reporting an item in the financial statements of an entity is

(A) Allocation (B) Matching

(C) Realization (D) Recognition

266. President of India gave assent to following Acts: Central Goods and Service Act 2017; Integrated
Goods and Service Act 2017; Union Territory Goods and Service Act 2017 and Goods and Service
Tax (Compensation to State) Act 2017 on

(A) 12th May 2017 (B) 12th June  2017

(C) 12th April 2017 (D) None of the above

267. Aditya Ltd entered into an agreement with Mahesh Ltd. for sale of goods costing Rs.4,00,000/-
at a profit of 20% on cost. The sale transaction took place on 15 Feb 2019. On the same date
Aditya Ltd entered into another agreement with Mahesh Ltd. for repurchasing the same goods
at Rs. 5,40,000/- on 15th August 2019. The predetermined purchase price covers, inter alia, the
holding cost of Mahesh Ltd. On 31st March 2019 how much amount should be debited or credited
to the Profit and Loss Account of Aditya Ltd.

(A) Rs.15,000/- debited as financial charges (B) Rs. 16,000/- debited as holding charges

(C) Rs. 80,000/- credited as profit (D) Rs 15,000/- credited as financial charges

268. The figures appearing in the financial statement may be rounded off if turnover is less than 100
crore

(A) To the nearest hundreds, thousands, lakhs, or millions or decimal thereof

(B) To the nearest crores or decimal thereof

(C) To the nearest three decimal place

(D) No such rule exists
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269. In how many years and in which fund the amount of unpaid dividend account should be
transferred
(A) 3 years, Investor Education and Protection Fund
(B) 7 years, Investor Education Fund
(C) 3 years, Unclaimed Dividend Fund Account
(D) 7 years, Investor Education Protection Fund

270. Subsection (4) of Section 123 states that the amount of dividend, including interim dividend,
shall be deposited in a scheduled bank in a separate account within _______ days from the date
of declaration of such dividends
(A) 10 days (B) 5 days
(C)  15 days (D)  20 days

271. Given that market price of equity share is Rs 54;  P/E ratio is 9;  Divided Payout Ratio is 72%;
company has 1,00,000 lakh equity shares. Book value per share is Rs .42/-. What is the EPS, Net
Income of the year and Dividend Yield Ratio respectively
(A) Rs 6/- ; Rs 6,00,000/- ; 8% (B) Rs 8/- ; Rs 8,00,000/- ; 10.28%
(C) Rs10/- ; Rs 42,00,000/- ; 11.11% (D) None of the above

272. Given the Current Ratio = 2.75;
Quick Ratio = 2.25;
Working Capital = Rs. 3,50,000/-.
What is the value of current liabilities, current assets and stock respectively
(A) Rs. 2,00,000/- ; Rs. 6,00,000/-; Rs. 3,50,000/-
(B) Rs. 5,50,000/- ; Rs. 2,00,000/-; Rs. 5,50,000/-
(C) Rs. 2,00,000/- ; Rs. 5,50,000/-; Rs. 1,00,000/-
(D) None of the above

273. A company has an inventory of Rs.73,000/-; debtors of Rs. 45,000/- and inventory turnover of 6
times. The gross profit margin of the company is 20% and its credit sales are 40% of the total
sales. Calculate average collection period assuming 365 days in a year
(A) 75 days (B) 197 days
(C) 78.125 days (D) None of the above

274. Prime cost and conversion cost share which common element of total cost
(A) Variable overhead (B) Fixed overhead
(C) Direct labour (D) None of the above

275. If a registered person purchased goods from composition dealer, can he claim input tax credit
(A) No he cannot claim (B) Yes only on goods
(C) Yes only on services (D) Yes both on goods and services

276. Which of the following services are covered under reverse charge mechanism of CGST Act 2019
(i)   Legal consultancy
(ii)  Goods transport agency
(iii)  AC repair services
(iv)  Manufacture of goods
(A) (ii) and (iii) (B) (i) and   (iv)
(C) (i) and  (ii) (D) None of the above
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277. Mr. X a resident of India wins Rs. 10,000/- in a lottery. Which of the statement is true in this
respect
(A) Tax is deductible u/s 194B @ 30% (B) Tax is deductible u/s 194B @ 40.9%
(C) No tax deductible at source (D) None of the above

278. Family pension received by a window of a member of the armed forces where the death of the
member has occurred in the course of the operational duty. Which of the statement is true in
this respect
(A) Exempt upto Rs 5,00,000/- (B) Exempt upto Rs 7,50,000/-
(C) Exempt upto Rs 10,00,000/- (D) Totally Exempt under Section 10(19)

279. According to _______ the rate of tax leivalbe on STCG arising from transfer of equity shares of
a company or unit of an equity oriented fund is _______
(A) Section 111A; 15% (B) Section 137; 12%
(C) Section 140A; 20% (D) None of the above

280. Unexplained Cash Credit is taxed and final rate including cess comes out to be _______
(A) 30.25% (B) 60.25%
(C) 83.25% (D) None of the above

281. Which of the working capital strategy is most aggressive
(i)   Making greater us of short term finance and maximizing net short term asset
(ii)  Making greater use of long term finance and minimizing net short term asset
(iii) Making greater use of short term finance and minimizing net short term asset
(A) Only (i) (B) Only (ii)
(C) Only (iii) (D) None of the above

282. Under a conservative financing policy a firm would use long term financing to finance some of
the temporary current assets. What should the firm do when a dip in temporary current assets
causes total assets to fall below the total long term financing?
(A) Use the excess funds to pay down long term debt
(B) Invest the excess long term financing in marketable securities
(C)  Use the excess funds to repurchase common stock
(D) None of the above

283. How can a firm provide a margin of safety if it cannot borrow on short notice to meet its needs
(A) Maintain a low level of current assets (especially cash and marketable securities)
(B) Shorten the maturity schedule of financing
(C) Lengthening the maturity schedule of financing
(D) None of the above

284. If a company moves from “Conservative” working capital policy to an “aggressive” policy it
should expect
(A) Liquidity to decrease, whereas profitability to increase
(B) Expected profitability to increase whereas risk would decrease
(C) Liquidity would increase, whereas risk would decrease
(D) Risk and profitability both to decrease

285. The cost of insurance and taxes are included in
(A) Cost of ordering (B) Set up cost
(C) Inventory carrying cost (D) Cost of storages
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286. The reorder point is divided by number of sold units for per unit of time to calculate

(A) Relevant carrying cost (B) Relevant ordering cost

(C) Purchase order lease time (D) Number of purchase order

287. Which of the following is not an assumption of the Basic Fixed Order Quantity Inventory Model

(A) Ordering or Setup Costs are Constant

(B) Inventory holding cost is based on average inventory

(C) Diminishing return to scale on holding inventory

(D) None of the above

288. The Pareto Principle is best applied to which of the following inventory systems

(A) EOQ (B) Fixed time period

(C) ABC Classification (D) Fixed order quantity

289. ABC Ltd. is out of stock for a key item, which has a backorder of 200 units. An open order of 750
units is scheduled for arrival on the following Monday. What is the current inventory position of
ABC Ltd.

(A) Less than or equal to 0 units

(B) Greater than 0 units but less than or equal to 500 units

(C) Greater than 500 units but less than or equal to 750 units

(D) Greater than 750 units

290. The technique of converting figures into percentage in some common base is called

(A) Ratio Analysis (B) Common Size Statement Analysis

(C) Trend Percentages (D) None of the above

291. According to CGST Act 2017 Section 56 if any tax ordered to be refunded under subsection (5)
of Section 54 to any applicant is not refunded within 60 days from the date of receipt of application
under subsection (i) of that Section, interest at such rate not exceeding _______ shall be payable
in respect of such refund.

(A) 9% (B) 6%

(C) 4% (D) 2%

292. _______ function in excel tell how many numeric entries are there

(A) COUNT (B) NUM

(C) SUM (D) CHKNUM

293. VLOOKUP function is used to

(A) Find related records (B) Looks up for text that contains ‘v’

(C) Checks if 02 cells are identical (D) None of the above

294. We can cancel Marquee by pressing

(A) CTRL + ESC (B) ALT +  ESC

(C) SHIFT + ESC (D) ESC

295. Which function can be used to calculate monthly mortgage payment

(A) PMT (B) PV

(C) NPER (D) None of the above
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296. Macros in MS Word are

(A) Small programs created to automate repetitive tasks by using VBA

(B) Small add on programs that are installed to handle large documents

(C) Special feature used to convert word file into pdf document and split it

(D) None of the above

297. In MS Word what is the short cut key to open font dialog box?

(A) CTRL + F (B) ALT + CTL +F

(C) CTRL +D (D) CTRL + SHIFT + D

298. What is a motion path in a power point

(A) A method of moving items on a slide (B) A type of animation entrance effect

(C) Method of advancing slides (D) None of the above

299. Which indent market controls all the lines except first line

(A) Left indent market (B) First line indent market

(C) Right indent marker (D) None of the above

300. In power point which key do you use to check spelling

(A) F9 (B) F7

(C) F5 (D) F3
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